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M Select the correct option in the followings. Each question carries 1 mark.
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A die is rolled once. Let A be the event that the die shows 6 and B be the event that the die
shows an even number, then

(a) AnB=¢ (b) AUB=¢ (c) AnB#¢ d) A=1l,3,5

If PLAUB) = % and P(A) = % , then the probability of AN B

.1 .1 . B .1
(a) is 3 (b) is s (c) is . (d) is 2

Seven persons are to be seated in a row. The probability that two particular persons sit next to
each other is

1 1 2 1

a) — b) — c) = d) -

(a) > (b) 9 (c) : (d) 3

6 boys and 6 girls sit in a row at random. The probability that all the girls sit together is
1 12 1 1

a) — b) — c)h— dy—=—

()432 ()431 ()123 ()132

Without repetition of the numbers, four digit numbers are formed with the numbers 0, 2, 4 and 5.
The probability of such a number divisible by 5 is

4 1 1 5
(a) g (b) % (©) g (d 5

A single letter is selected at random from the word ‘PROBABILITY". The probability that it is a
vowel is

4 7 2 3
a) — b) — c) — d) —
()11 ()11 ()11 ()11
The probability that at least one of the events A and B occurs is 0.6.

If A and B occur simultaneously with probability 0.2, then P(K) + P(E) is

(a) 0.8 (b) 0.2 (c)1.2 (d) 1.6
If X and Y are two events, the probability that at least one of them occurs is
(a) P(X)+P(Y)-2P(XNY) (b) P(X)+P(Y)-P(XNY)
() PX)+P(Y)+P(XNY) (d) P(X)+P(Y)+2P(XNY)

The probability of happening of an event A is 0.5 and that of B is 0.3. If A and B are mutually
exclusive events (i.e., disjoint events), then the probability of neither A nor B is

(a) 0.2 (b) 0.8 (c) 0.02 (d) None of these
Let A and B be two events such that P(A)=0.3 and P(AUB)=0.8.
If P(CANB)=P(A)xP(B), then P(B) is


https://youtu.be/hxQ4LqRIa30
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11.

12.

13.

14.

15.

16.

2 6 1 5
a) — b) — c) — d) =
(a) 5 (b) 5 (c) 5 (d) 5
A chartered accountant applied for a job in two firms X and Y. He estimated that the probability

of him being selected in firm X is % and being rejected in Y is % and the probability that he

will be selected in both the firms is % The probability that he will be selected in at least one of

the firms is
4 1 2 3
a) — b) — c) — d) =
(a) s (b) s (c) s (d) s
Three unbiased coins are tossed. The probability of getting at least 2 tails is found to be p.

Then the value of 2p is

(a) 0 (b) 1 (c) 3 (d) 4
From 4 red balls, 2 white balls and 4 black balls, four balls are selected. Then the probability of
getting 2 red balls is

1 2 3 4
(a) 2 (b) 2 (©) E (d) r

An experiment consists of tossing a coin and then throwing it second time if a head occurs. If a
tail occurs on the first toss, then a die is rolled once. Then the number of sample points in the
sample space of this experiment is

(a) 0 (b) 8 (c) 3 (d) 4
A card is drawn from a pack of 52 playing cards. What is the probability of the drawn card to be
a Queen?

1 12 3 1
(2) E (b) E (c) 5—2 (d) 5—2

A bag contains 6 white marbles, 2 red marbles and 3 blue marbles. The probability of drawing a
non-white marble from the bag is given by

6 1 5 10
@ 77 (b) = ©) 5 @

Question numbers 17 to 20 are Assertion and. Reason based questions. Two statements are given,
one labelled Assertion (A) and the other labelled Reason (R). Select the correct answer from the
codes (a), (b), (c) and (d) as given below.

17.

18.

19.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

Assertion (A) : The probability that a person visiting a zoo will see tigers is 0.72, the probability
that he will see the elephants is 0.84 and the probability that he will see both is 0.52.

Reason (R) : If A and B are two events associated with a random experiment such that
P(A)=0.3, P(B)=0.2 and P(AnB)=0.1, then the value of P(A"B)is 0.2.

Assertion (A) : If a coin is tossed repeatedly until a tail comes up, then the sample space
corresponding to this experiment is {T, HT, HHT, HHHT, HHHHT, ...}.

Reason (R) : The probability of an impossible event is 0.
Assertion (A) : Let E be the event corresponding to a random experiment. Then 0 <P(E)<1.

Reason (R) : For mutually exclusive events E and F, we must have ENF#¢.
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20.  Assertion (A) : The probability of drawing a king card of red colour from a pack of 52 playing
card is i
26

Reason (R) : Let E be an event associated with a random experiment. Then P(E)+P(E") =1.

If you need MS Word files of our Mathematics Tests series of classes XII & XI (MCQ Type &
Subjective Type Questions with Case Study), then you may grab it as a Premium Service
(requires Payment).

Please contact on the WhatsApp @ +919650350480 to inquire about the Charges for the same.

with Keen Support of

THOUSANDS OF TEACHERS
ACROSS THE GLOBE

Mathmission

‘ We have released Set of 2 Books for CBSE
‘ K Class XI (Academic session 2024-25).

1. MATHMISSION FOR XI
M COMPLETE THEORY & EXAMPLES
v cop M SUBJECTIVE TYPE QUESTIONS
order \A‘:iuRates 0““3 M COMPETENCY FOCUSED QUESTIONS
piscounte Wha atsAPP & Multiple Choice Questions
91-9650350 480 & Assertion-Reason Questions

& Case-Study Questions

& Passage-Based Questions
W M ANSWERS OF ALL QUESTIONS

GET BULK-ORDERS @ THE Sﬂl“TmNs 2. SOLUTIONS OF MATHMISSION
DISCOUNTED PRICES FOR OF METHMISSION M Step-by-step Detailed Solutions
SCHOOLS, TUITIONS & (For all Exercises of MATHMISSION)

COACHING INSTITUTES *’-"3 |
¥
amazon ~

0.P. GUPTA

uuuuuuuuuuuuuuuuuuu

0.P. GUPTA

INDIRA AWARD WINNER

~f Flipkart

This document contains MCQs for Mathematics (041) of class XI.
& Answers / Solutions is available on YouTube channel — Mathematicia By O.P. Gupta
You can share this document with other students!

= With a lot of Blessings!

gut};orG &UJ}VI)aTt’;:lMentor Exclusive coaching for Maths (041)
Indira Award Winner By O.P. GUPTA

The O.P. Gupta Advanced Math Classes
@ Think Academy, Near Dhansa Bus Stand
Metro Station Gate No.3, Najafgarh, Delhi

® Telegram / WhatsApp : +919650350480
u YouTube.com/@theopgupta

MATHEMATICIA By O.P. GUPTA : A New Approach in Mathematics



https://amzn.eu/d/2PV2AcD

D A= theopgupta

.com

MATHEMATICIA
BY O.P.GUPTA

..a Name you can bank upon!

Feel Safe to Share this Document with other math scholars

CLICKNOW

FREE PDF TESTS AND
1o @) / ASSIGNMENTS OF THE
or, just type - CLASSES XII, X1 & X

theopgupta.com

To get FREE PDF Materials, join
WhatsApp Teachers Group

v by Clickingon theLogo

CLICK HERE FOR | CLICK HERE FOR
If you are a Student, thenyoumay | cLASSES B CLASSES
X & X M XI &XI

o S You can add our WhatsApp no. +919650350480 to your Groups also

Mathmission Many Direct Questions from our Books have been asked in the recent CBSE Exams

4 MATHMISSION
=8 FOR XII, Xl & X

0., GUPTA 0£.80FTA 202"“25 Ed itiOI‘I Buy our

books on
4/theopgupta @)/theopgupta (G)/theopgupta [)/@theopgupta amazon
For Bulk Orders of our Books at Discounted Price, contact on +91-9650350480 Flipkart

Clickon the
Book cover

INDIRA AWARD WINNER



https://theopgupta.com/
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/HldfrvTKqbaAdn1yzXM6tr
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://amzn.in/d/i9efLjQ
https://theopgupta.com/
https://amzn.in/d/i9efLjQ
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://amzn.in/d/09QJKZhA
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://theopgupta.com/
https://theopgupta.com/
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/Hz2skdBNJLrJCb5jcQmjv9
https://chat.whatsapp.com/FkRZ3kg5D9S2gLkZu16yzI
https://chat.whatsapp.com/FkRZ3kg5D9S2gLkZu16yzI
https://chat.whatsapp.com/HldfrvTKqbaAdn1yzXM6tr
https://chat.whatsapp.com/HldfrvTKqbaAdn1yzXM6tr
https://chat.whatsapp.com/HldfrvTKqbaAdn1yzXM6tr
https://wa.me/+919650350480
https://chat.whatsapp.com/HldfrvTKqbaAdn1yzXM6tr
https://chat.whatsapp.com/HldfrvTKqbaAdn1yzXM6tr
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://amzn.in/d/i9efLjQ
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://www.amazon.in/s?me=A155FRQ6I77B2X&ref=sf_seller_app_share_new
https://amzn.eu/d/9uWA3uw

